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«Urstlu {tb» RRLC-h 2010p-h ognuwmnup 20-hG Yuywgwo SGoptGGtph lonphpnh
Ghunnd  npnpnudGip GG  pGgniGyt; dh wpp, wyn pymd”  bwlwl thwunmbp L
wmbintnipymGGtp wwpniGuwynn hwpgtinh yipwptnyuy:

SGopkGGtph  tunphpnh  opwlupgmd  plnqpyyty GG  SGoptGGtph Funphpnh
(wppwquhh U pwpumnquph  pGuopmpjwl, Sqfuwynp SGoptiGh L Unpwnpwwnhy
pwpunniuph  Guwlwlydiwl hwpgtp: CGytpmpjwl onphpnh Gwfuwqwh £ pGuopygbg
Uwuwpuwl OlnuyywGp, npp Gepuymiu qpunbgnd £ LA thnjujuwpswwybnh L
bShGwlultph Gwhuwpwph wuwywnlp: Gjuwynp SGopkGh wuwywnlnd YytpwlywGwyyt) k
gnponn wmGoptl Jwhpwdi Ptquupjulp: YUnpynpuwwmhy pwpunmnuwnp £ Gululyyt] hGhuw
Gnhgnpyuibp:

lonphpnh Ynnihg  hwuwnwwylty GG dh  pwpp  GhpphlG  JwGnGwlwpgtin,
dwulwynpuybu®  «Qquwynp  SGopkGh Jwuhl YJuwlnGuywpg»-pn, «Unpynpuwnpy
pwpuninuph JwuhG YuwlnGwlupg»-p, «LhpphG (hGuuwyntpuiwi) wmbntynipmiGGtph
dwuhl JulnGwiupg»-np, «Stntjuunjuiul punupwlwlnpjul dwupl JulnGuiupg»y-n
L ««Upguwjpu {<EU» PRC-h Ynnihg wijw wnghunpuuwi juqiuybpynpjul hwiwp
hpwlwlGwgynn hpwwywpwlwjhb dpgnyph juquuwybpydwb dwuhl juinGuyupg»-n:

SGonGtnh funphpnh  Ynnihg npnpmud B plngmGdtp Gwbk hwyjnwpupjuo
pwdGhnndutphg 1,400,000,000 <& ppwd owyqwih 1,400,000 hwwn ny thwunwpnpwjhG
unynpuul  wljwlwlwl  pwdlbhwmndutpn jpugnighy  wbnupwphutim dwuhG:
Uhwdwdwlwl SGoptGGtph Inphnipnp hwunmwwmty b «Upgwfu <Eb» LRPRL-h ny
thwunwpnpwjhl hwuwpwly wijuliwiuwl pwdibnniutph mtnupwyfudwl yuydwGtpp,
hwiwdw)l nph Gwhiwwnmbudt] L pwdGhnniubpn mbnupwpfut] pwdbtmbptiph Ynnihg
pwdGtmniubtph dtnpptipdwl Gwuwwwumynipjuwl hpwynilph Yhpwndiwb dhongny: Npujtu
pwdltumndutiph wmbnwpwpunn, GYwo npnpuwl  hwdwdw)l, hwlnbu L quihu
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